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| CDs £5.49 each|

(i) Calculate the cost of buying 3 CDs.

ARSWET: Evevurnemssssssssssssasssssen N O

(i) How much change should | receive from £20 when 1 buy 3 CDs?

ANSWET: £ ooeriiienereaeseassenans (1)

| notice that there is a special offer.
~- W =

Buy 3 CDS and get

= another CD atioff [

~—] the normal price

AT

(i) How much would 4 CDs cost using this special offer?
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2. In a survey of 20 children the number of pets owned by each child is recorded.

number of pets tally frequency
0 H+ 1l 7
1 Il 3
2 HA 6
-3 0
4 111 3
- / 1
© TOTAL 20
Use the table above to find
(i) the mode
BRI covspmmdpeaommmndi pets (1)
(i) the median
ANSWEL: «eereversenees ...... pets * (1)

(ii'i) the mean number of pets that each child has.
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AFISWEL: vsxcssnrrapesgussenersanmassiisonabisns pets  (2)
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wing sequences:
3. (a) Wrile down the next tvo terms in cach of the follovang q |

() 1, 1.2, 8 Bs cere o
 ANSWER: cuverrsssessararsasens \ cereressensnaerariaas (1)
(i) 81,27, 9,3, 0o e
ANSWEN weverecsevareranssnene o rewemammme SRR {2)
(i) 1,3, 7, 15, ces wene
ABBHBIL cuemsnepmosvsmwarmans L FApem—— 2)
(b) On day 1 of her holiday, Diana has £72 in her savings box. 7.+ . e
On day 2 she has £69, on day 3 she has £66 and so on. o
o ! Ve :, 5
(i) What is the formula for her savings, s,, on the nth day P
of her holiday? | e e
ANSWEL S, = £ oo (2)
(i) On which day do Diana's savings run out?
Answer: ... S SRS TS s R (1)
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4. Andrew, Ben and Charlotte share a pie. {ME»_:ZK. - s
~ Andrew is given % of the pie. ST EJ‘%{'; , k |
S T . s
(i) What fraction of the pie is left? S M/? .
Answer: PSR s e . P (1)
Ben is given % of what is left.
(i) What fraction of the whole pie is given to Ben?
©
ADNSWEL cnvieireeeesrnassrsessasnnenssansbnssanaasass (1)

Charlotte is given % of what remains of the pie and the rest is sharéd equally
by 5 blackbirds.

(iii) What fraction of the whole pie does each blackbird have?

BTTEWETY svvssssanmmmsmnis Risshss EFARISEERENE SRS (3) |

S.A. 2837226 5 | Turn over




| - " auline an
5. In a raffle, the prize money is shared between Jane, Fiah
ratio 5:4:3 : '

(i) If Pauline’s share is £36, how much‘ does ‘Hufh rece've‘,

S . sae iy Answer: £---.‘-.l-....‘;.’-; ....... ‘l-IlllllilIllllll‘ ........

(i) How much more doés Jane receive:than Ruth?-

Answer: £

---------------------------------------------

Pauline divides her share equally between the other two girls.

(ii) What is the ratio of the amounts that Jane and Ruth now have?

Anawar- C it

d Ruth in the




e S

- ©

6. (i) Write as a product of prime factors using indices

(@) 20

BOBWER sommemmmeomotsnimpmmppoemas (2)
(b) 30

Answer: O T, S IR— (1)
(c) 20_x 30

ANSWET: 1iirrrvrereicisannereneoinsarsressssnsanassees - (1)

(i) What is the smallest intéger that will divide into 600 to give a square
number? ' '

ANSWEL: eeeeeereeeseemereseeeaessemesessesemin (1)

(i) Joe has 600 plants. -

He divides them into 24 equal groups and plants each
group in the shape of a square.

How many plants are there along each side of a Square?'

<s%
<
<

ATTEWET scxsmsnnsssonnsysssssnmanissssnssss s iiaisas 2)
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(i) pgr

(iiiy p? — 2qr

(iv) s, when s=r(2p+ q°)

S.A. 2837226
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ANISWET: v rvevresinsrsernrrsmoseessnssssssnssosnsasnnns

AOBWET iarmrmsssns i S anini s ssaes

ANSWET. 8 T oiieiiiaevriessarasesrssssoaessssnss

@

(2)

)



Ly

‘8. {(a) Solve the followiny éqUations:

(i 3a=2

: e A T nunm-nuu;unnn “)
| (i) (b~ =b+1
1 | e
AHSVIU“ b = .uunnnuuun.iuu (p)
19 |
3 2 4
ARSWEE €= commsrsmsmmsrniannnss ()
(b). (i) Solve the following inequalities:
(a)2x—-3=7
AHS'WQ” IJJJJJJ_JI:‘J‘JJ!JJ!JJili)llllll (2)
(b) 1 —x<4
4
| .
; Ansvler: llllllll ll!l.ll)‘lllllll'l#lll# (2)
(i) What is the smailest integer that satisfies both inequalitios in parts (a)
and (b) above? -
ARSWET: wvnreerssrvssssssrimeninnsss (1)
9 Turp over
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| (i} Calculate the volume of the cuboid.

ANSYIED .oieneeeeeeeeeesinenns rvereneaens cm®  (2)

The inside of a box measures 6 cm by 3 cm by 4 cm. It is filled with small cuboids.

1 cm# not to scale

v
a3 cm
2cm

(i) (a) How many small cuboids measuring 1 cm by 2cm by Scm are
needed to fill the box completely? .

BUIBIWEL omoxnmnmrronsnnniinia SuH5MEssmsaFssssms oes (2)

(b) Calculate the total surface area of all the small cuboids in the box.

' 2
o 1T P cm®  (3)



10. A field is in the shape of a trapezium ABCDE.

33 m —"

A B8
T | not o
20 m scale
1L
S
Calculate
(i) the length DC
ANSWEL: .levemsmrenssanssnaemesees m (1)
(i) the perimeter of the field
PN To11T1C) R ——— m {3)
(iii) the area of the field.
ANSWET: .e.eeeeeeernevenenne m° {2

It is planned to divide the field in half by area, by putting a fence from 810 2
post, P, on the side CE.

(iv)y How far from E should the post, P, be placed?




11. (a)

Calculate the size of each of the angles marked a, b, and ¢

A4

(i) Calculate the size of each of the angles marked p and q.

(i) Find the bearing of O from Q.
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ANSWEN: 8 = svescisassoromsomnsiresasa (1)
Bi= uiiimmsnsvipapccenonionnes (2)
ST PR T [y
" notto
scale
ALSWET: D= e siigeass gosiassssisises . A2 "
ANSWER: § = covrreereanesesesninennen m
ANSWEL: vvionreceasrsmssmssssssses @
Turn over



m, BC =9 cm and angle ABC = 55°

12. (a) ABCis a triangle with AB =8¢
as been marked for you. <))

(i} Construct triangle ABC. The point Ah

AT

(if) Construct the point D such that ABCD is a
Complete the figure. parallelogram. -




Q

-
Sdali.

i ) Onthe co-ordinate grid below, plot the points (2, 0), (4,2) and (l 3) ,
Jain the points ang label the triangle P. (N

(in Reflect triangle P in the line y = 3 and fabel the image Q. . | (2)
4

) Rotate triangle P by 180° about the point (4,4) and label the imago R (@) |
; H i

(W) with centre (0.3), enlarge triangle P by scale factor 2 and Iabol tho -

@)
:o 4 !M:je ‘S

A How man fy nmas larger is the area of S than the area of R?

Answer: cusraspunanis — times (1)

Turn over
4 rr




14, Look at these number patterns:

(i) roW1.:
1x1 =1
row 2: -
11x11 =121 and1+2+1
row 3: | o -
1M x 111 =12321 and1+2+3+2+1

(@) Continue the pattern for row 4 and for row &

row 4: C

1111 X 1111 = cieiceirieiieeens AN ooeeeecseriseesasnsnsensarnasas anes
row 5: _ |

1M1 X 111 = e, o AN eiieeieeecrererrieeetaansasssasinisssenns

' (b)' Which type of number is the final number' in each roW?

ANSWET oiiiminiinunnansasees

......... e ()

(c) What is the final number in the row that starts 111111111 x 1111111112

(iiy row 1:
1x1x1 =1
row 2:
11 x 11 x 11 =1331 and1+3+3+1

What is the final number in the row that starts 11 x 111 x 1112

ANSWEL: wirvviirvivnneerenns

(Total marks: 100)
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